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CHALLENGE CARD #1


1. The graph shows the number of widget sales that four competing companies had last month. The manager of Cheap Widgets wants to make the differences in the number of widgets sold seem less significant. Which change to the graph would be most effective?

a. Use a broken line from 0 to 200.
b. Use a lesser interval on the vertical axis.

c. Place the companies in a different order.

d. Use a greater interval on the vertical axis.

2. Which scatter plot displays a negative relationship over the entire data set?
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3. Tinaya kept track of her puppy’s weight during the first few weeks of its life. The graph below shows its weight. Based on the graph, which statement best describes the weight of Tinaya’s puppy?
a. The puppy’s weight increased, then stayed constant.
b. The puppy’s weight decreased, then stayed constant.
c. The puppy’s weight stayed constant, then increased.
d. The puppy’s weight stayed constant, then decreased.
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The ages and weights of a number of kittens are recorded on the scatter plot. Which equation represents a line of best fit for this scatter plot?

a. y = (5/9)x – 1

b. y = (7/9)x + 1

c. y = (9/7)x + 2

d. y = (9/5)x +1
*B1*
What is the solution to f(x) = g(x), 
given f(x) = 3.6 + 0.6x & g(x) = 0.24x – 1.8?

*B2*    Simplify: (4 x 105)(2.3 x 103)
CHALLENGE CARD #2
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A television news channel posted this data about how the city residents are satisfied with the mayor’s performance. The news anchor said most of the residents were happy with the mayor. Which statement best describes the news anchor’s statement?

a. It is valid because people with no opinion cannot be happy about something.

b. It is valid because on 25% of the residents are happy.

c. It is valid because 55% of residents were unsatisfied or very satisfied.

d. It is invalid because people with no opinion cannot be unhappy about something.
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The graph below shows the amount of precipitation that an Ohio town received in a month. Based on the graph, which statement about the amount of precipitation is true?
a. The amount of precipitation received for the month was greatest at the beginning of the month.
b. The amount of precipitation received for the month was greatest in the middle of this time period.
c. The amount of precipitation increased steadily during this time period.
d. The amount of precipitation decreased steadily during this time period.

7. Esmeralda compared the distance she can ride her bike (x) to the distance that Mirelys can run in the same amount of time (y). A line of best fit for the data collected is y = 0.5x + 1. Which scatter plot best represents the data?
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*B3*
What is the slope of the line represented by this equation? 
6x – 2y = 12


*B4*
      Order these numbers from greatest to least.
A) –½ 
        B) -0.6          C) – 4/5
D) -0.45
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CHALLENGE CARD #3
8. The graph below was included in an article about taxi fares in a city. The article that states that the taxi fares are much higher in 2010 than they were in 2007. How is the information in the graph misleading?
a. The horizontal axis only shows years not months.
b. The vertical axis intervals are less than $1.
c. The scale on the vertical scale does not start at zero.
d. The city should have been named in the graph.
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The graph below was included in a magazine article about the population of Memphis. The article states population gains from 2000 to 2010 are significant. Which statement represents why the information in the graph is misleading?

a. Only a period of 10 years was considered.

b. The graph only shows the population of one city.

c. The vertical axis makes the differences in data appear greater than they actually are.

d. The vertical axis intervals should be smaller.


10. Oscar read an article about movie ticket prices.

- The average cost to attend a matinee movie was about $7.50.

· The average cost to attend an evening movie was about $11.00.

· The author of the article stated that a person would save about $100 per year, going to the movies once per week, if they always went to a matinee instead of an evening movie.

Which statement best describes the author’s statement?

a. It is valid because the total cost of going to a matinee and an evening movie is about $18.50.

b. It is valid because the total cost for watching a matinee and an evening movie each week is about $962.

c. It is invalid because the difference in cost between the evening movie and the matinee is about $3.50.
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It is invalid because the difference in cost between going to an evening movie and a matinee each week is about $182 per year.


11. The number of t-shirts sold and the prices of the t-shirts are recorded on the scatterplot. Which equation represents a line of best fit for this scatter plot?

a. y = -(4/3)x + 10

b. y = -(9/10)x + 13

c. y = -(3/4)x + 9

d. y = -(1/2)x + 15
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*B5*

Simplify.

(3 x 106) (2.5 x 107)


*B6*

What is the slope of the graph?
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CHALLENGE CARD #4
12. The increase in home sales for a realty company over four months is shown on the graph. The general manage of the realty company wants to make the increase seem more significant. Which change to the graph would be most effective?

a. Use a broken line on the vertical axis to represent the data between 0 and 25.

b. Use a greater interval on the vertical axis.

c. Use a lesser interval on the horizontal axis.
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Represent the data in a circle graph instead of a bar graph.


13. Chris hit a golf ball. The graph below shows the height of the golf ball during flight. Based ont eh graph, which statement best describes the height of the golf ball?
a. The height of the golf ball decreased and then increased.
b. The height of the golf ball decreased and then remained constant.
c. The height of the golf ball increased and then decreased.
d. The height of the golf ball increased and then remained constant.

14. Which scatter plot displays a positive relationship between the two variables?
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15. A group of students measured the hight of stacks of cardboard that have been collected or recycling. The results are shown in the scatter plot below. Which conclusion about the growth rate is best supported by the data?

a. The stacks grew about ½ foot per week.

b. The stacks grew about 1 foot per week.

c. The stacks grew about 1½ feet per week.

d. The stacks grew about 2 feet per week.
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Jacob ran laps around the baseball field and Dorian recorded his heart rate. Then Dorian graphed the results. Based on the graph, which statement best describes the change in Jacob’s heart rate?

a. Jacob’s heart rate increased, then decreased, and then stayed constant.

b. Jacob’s heart rate increased, then stayed constant, and then decreased.

c. Jacob’s heart rate decreased, then increased, and then stayed constant.

d. Jacob’s heart rate decreased, then stayed constant, and then increased.


*B7*
Ms. Misconish rode her bicycle 2.2 miles up a hill 0.2 hour. Then she rode back downhill on the same path in 0.12 hour. What is her total distance for the trip?

*B8*
What is the value of this expression? [(3.5 x 108)(4 x 10-2) / (2 x 102)]

CHALLENGE CARD #5
17. A doctor’s office put an ad in the newspaper for a receptionist. Including the doctor, the office has 5 employees. The salaries of the employees, including the doctor, are $25,000; $20,000; $400,000; $35,000; and $20,000. The ad said that the average salary was $100,000. Which statement is true?
a. The ad is not misleading. It uses the mean of the salaries.

b. The ad is misleading. It should have used the mode of the salaries.

c. The ad is misleading. It should have used the median of the salaries.

d. The ad is misleading. It should have used the range of the salaries.

18. A radio station’s poll showed that 85% of its listeners would like fewer commercials during rush hour. Three other polls not conducted by the radio station show that only 45% of the people would like fewer commercials during rush hour. What is most likely the cause of the discrepancy between the radio station’s poll and the other poll?

a. The radio station most likely surveyed only its listeners.

b. Many of the station’s listeners commute during rush hour.

c. The other three polls surveyed mostly people who do not listen to the radio.
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The radio station’s owner also owns a commercial company that would play the commercials on the radio.

19. What can you determine about the distance traveled in relationship to the cost of airfare?

a. The distance the plane traveled did not affect the cost of the airfare.

b. As the distance increases, the cost of the airfare decreases.

c. As the distance increases, the cost of the airfare increases.

d. There is no relationship between the distance and the cost.
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Which best describes the correlation between the distance of an away game and the number of people who attended?
a. Positive correlation

b. Negative correlation

c. No correlation

d. Constant correlation

21. A commercial for Just Quit on television states that 4 out of 5 doctors recommend their product. It turns out that most doctors do not recommend their product. However, Just Quit did not lie about their findings. Which is not a way that Just Quit could have mislead the public?

a. Just Quit only surveyed 1,000 doctors.

b. Just Quit surveyed doctors who do not specialize in fields involving the product.

c. Just Quit only surveyed doctors who work for them.

d. If a doctor did not respond, Just Quit counted that as recommendation of the product.

22. The media reported “times are looking up because home sales have increased by 30% from last year”. Still, it seems that most people are having trouble selling their homes. Which is most likely the reason why the report is misleading?

a. The report is misleading because last year was a terrible year for home sales, so this year is still not good.

b. The report is misleading because only less expensive homes have sold this year.

c. The report is misleading because only a few homes have been sold this year.

d. The report is not misleading because home sales have increased.
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CHALLENGE CARD #6
23. Which best describes the correlation between the number of home runs and the number of RBIs?

a. Positive correlation

b. Negative correlation

c. No correlation
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Constant correlation

24. Two bar graphs show the same data. The bar graph on the left was placed in one newspaper and the bar graph on the right was placed in a second newspaper. Which sentence is most likely true?

a. Town Diner produced the graph on the left to show how much it is beating the competition in sales.

b. Fred’s Diner produced the graph on the left to show that it is close to the competition in sales.

c. City Diner produced the graph on the right to show that it is close to Town Diner in sales.

d. Fred’s Diner produced the graph on the right to show that it is close to the competition in sales.

25. [image: image29.jpg]wo bar graphs show the same data. The bar graphi ©% = ==~ =5
1d the bar graph on the right was placed in a second newspaper:

Daily Sales of 3 Diners

$1,200——— ]
$1.190}——

$1,180.

$1,170

$1,160

$1,150

Daily Sales of 3Diners 1140
! $1,120

$1,000 $1,110,

”TmchyFm'-
Diner

hich sentence is most likely true?




The graph shows the weight of an object on Earth to its weight on Mars. What is the approximate weight on Mars of an astronaut who weighs 140 pounds on Earth?
a. 45 pounds

b. 55 pounds

c. 60 pounds

d. 65 pounds

26. Use the graph for #25 to answer the following question: A rock sample collected by a rover device on Mars weighs 30 pounds. What would the same rock weigh on Earth?

a. 10 pounds

b. 30 pounds

c. 80 pounds
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300 pounds

27. Which situation best describes the pictured function?

a. The releasing of a balloon into air.

b. A person on a cross-country run.

c. The fight path of a plane after reaching cruising altitude.

d. The path of a baseball thrown to a batter.
*B9*

What is the solution for x if f(f) = g(x) where
f(x) = 2x + 6 
& 
g(x) = 7x -19?
*B10*

If the legs of a right triangle are 12 cm and 9 cm. What is the length of the hypotenuse?
